Aoz 4= 4

Co mplete-each proof.

. Given: LD w £X, LF & £2, bF = X3 F
- Prove: ADEF = AXYzZ /\ E
j Statements Reasons D& X
O 1w L= =
2. DF = X7 | 20—
3. LFe=y27 3. . _ z
- 4. ADEF = AXYZ 4,
2. Given: AC = XD, EC = DE, AF = AE A
"~ Prove: AABC = AAED . : m
' tements , - Reasons '
: Sla._ —_— B c D E
1. AC = AD L ‘
2. BC = DE . 2,
3 3. Given
4. DABC = AAED | 4.
5. Given: RT bisects Z0RS. 21 = 22 Q
Prove: ARTD = ARTS
' Statements : _ Rcasons
1. RT bisects £QRS. | 1. __
2. LORT = LSRT 2.
3. RT = RT 3 . o
4. Lle= 22 4, . .
5 5. ASA -
4" Given: AE bisects ED. AC = EC A '
. Prove: AABC = AEDC :
. ){ Statements Reasons B N C 2 o
$ 1. ZE bisects BD. - -
2, BC = DC 2. . '
3. L1= 42 3 —. M
4. . 4, —_
4 8. AABC = AEDC 5

Write a two-column proof for each exercise. £

& Given: DE = DF, DA bisects EF. © \
H/ ’

Prove: ADHE = ADHF _
!¢ Given: DE = DF, DH bisects £ EDF,

Prove: ADHE = ADHF F |
~ GiveniAB = TD, £1= £4 8. Given: £2 = L3, L1= £4

Prove: AABC = ACDA Prove: AABC = ACDA



